Taylor Chains
Taylor designs and manufactures high performance bicycle chains for professional racers and serious amateurs. Two new titanium chain sets, the challenger and the Tour, sell for $110 and $155, respectively. The following data summarize the cost structure for the two chain sets:
	
	Challenger
	Tour

	Numbers of units budgeted and produced
	43,000
	55,000

	Number of units sold
	40,000
	52,000

	Direct labor hours per unit
	2
	3

	Direct labor cost per hour
	$22
	$22

	Direct materials per unit
	$45
	$61



Taylor uses an absorption costing system. Overhead is applied to these two products based on direct labor hours using a flexible budget to calculate the overhead rate before production begins for the year.
Taylor budgeted (and produced) 43,000 Challenger chains and 55,000 Tour chains. Fixed manufacturing overhead was estimated to be $1.65 million and variable manufacturing overhead was estimated to be $1.75 per direct labor hour. Actual overhead incurred amounted to 2.1 million. Any over-or under absorbed overhead is written off to cost of goods sold.
Required:
a. Calculate the overhead rate Taylor used to absorb overhead to the chains.
b. Using the predetermined overhead rate you calculated in (a), and assuming any over-or under absorbed overhead is written off to cost of goods sold, calculate Taylor Chains’ net income before taxes for both the Challenger and Tour chains and for the entire firm.
c. Instead of using absorption costing, use variable costing to calculate Taylor Chains’ net income before taxes for both the Challenger and Tour chains and for the entire firm. Assume that any over-or under absorbed overhead is treated as a fixed cost and is written off to cost of goods sold.
d. Explain why the net income numbers calculated in parts (b) and (c) differ and reconcile the difference numerically.
e. Suppose the next year Taylor incurs total manufacturing overhead of $2.3 million and sells all the chains it produces next year as well as the 6,000 chains it had in inventory from the first year of production. How much manufacturing overhead will appear on Taylors’ income statement f the company uses (1)absorption costing or (2) variable costing?
